Odd Ove Out Order of Operations
Work out the answers to each calculation. Colour in the odd one out on each row.
1 12+ 8% 2 40—-6X%X 2 2% (3+10)
2 15— 10 = 2 5x2=5 5410 +2
3 40 =~ (12 — 2) 16 — 6 = 2 21 —4 %2
4 (24 -12)+4+7 40 — 42 10+ 28 + 2
5 V1+4x%x6 (35 + 10) + 32 (=5)2—-1x5
6 1+32—4 20 — 2 x V16 10+ 122 —4
2 14
7 o+ 32 — 4% =2 —4 4+ 3 x 27
7—2
o 4x(1+5)+3 18—2+2 14 — V100 + 22
9 (2 + 3 x 3)? (—10)2 +3x 7 1+3+72
10 25—-20+5-1 8+12+2+10 10 + +/4 X 52
11 20 Va—1)° 10 — 5 + (—1)2
d=3)? 6—(V4—-1) (=1
12 4—2%2x—1 7 —3x+/25 4%x5—v16%x7




